Vinh Khoa Ton October 25, 2014

A_Squared: Perform A2

Calculate A*2 where A is an 8-bit unsigned variable. The result is placed into 16-bit variable C. The 16-bit
result is saved using little endian byte ordering.

C1:CO0=AN2

Simulation of the multiplication problem 502. The answer should equal 2,500 (0x09C4).

.D3EG
B .BYTE 1
¥ .BYTE 2 aten X
Name Value Type Location
LCOSEG ‘ 2 50 r2° SREM Location 0x0100 [
c 0x00 SREM Location 0x0101 [
A_Srgquared : Memory x
lds r2b,A : load
mal 126,126 a6 Address: 0100
sts C,r0 ; store least significant byte (little end ggpign 32 oo oo oo oo oo oo o0 00 00 2......... N

sts C+1.rl ; store most significant byvte (big end) 00010R 00 00 00 00 00 00 00 00 00 00  weeennnnn.
. 000114 00 00 00 OO0 00 00 00 00 00 00 .evevenenn
rimp & Squared 00011E 00 00 00 00 00 00 00 00 00 00 eeeeeena..

Figure 1: Start of program with A initialized to 0x32 (5010) by double click on variable A on the Watch and
enter “50”

.DSEG
¢ By 2 Watch x
Name Value Type Location
.CSEG ‘ a 50 '2° SREM Location 0x0100 [
c 0xC4 'A" SRAM Location 0x0101 [
A _Sguared: Memory x®
lds r2b6,A : load
mul r26.r26 [ete ] [6n6][abe] Address: b0
sts C.r0 : store least significant byte (little end pggiop 32 2 0o oo oo oo oo oo oo 00 2R........ .l
| sts C+1,rl ; store most significant byte (big end) 00010R 00 00 00 00 00 00 00 00 00 00  wuueunsn..
000114 00 00 00 00 00 00 Q0 00 00 00 ..ieeeenwnn
rijmp A_Squared 00011E 00 00 00 00 00 00 00 00 00 00 .eeeeena.. =

Figure 2: After performing calculation of A*2 (by performing command “mul r26, r26”), result of CO is
0xC4

.D3EG
o levre 2 Watch x
MName Value Type Location
CSER ‘ 2 50 '2° SRAM Location 0x0100 [
c 0xC4 'A' SRAM Location 0x0101 [
A_Squared: Memory x
i e s v (ons) [she] scess o0
sts C.r0 ; store least significant byte (little end gog100 32 €4 09 00 00 00 00 00 00 00 2E........ o~
sts C+1,rl ; store most  significant byte (big end) 00010& 00 00 00 00 00 00 00 00 00 00  weeeeennn.
000114 00 00 00 00 00 00 00 00 00 00 ..eevewwann
| rimp A_Squared 00011E 00 00 00 00 00 00 00 00 00 00 eeeeeena.. =

Figure 3: Result of C1 is 0x09. End of program with the result is 0x09C4(2,50010) containing in C1:CO.
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